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ECE 3020 Homework 10 
Due Date: None –	
 not for grade 

 
1) Consider the network shown below.  Run the Ford-Fulkerson Algorithm to find the 

maximum flow in the network.  List each augmenting path you use along with the 
amount of flow you push through the path.  Calculate the total flow that results at the 
end of the algorithm and identify a minimum cut in the network whose capacity is 
equal to the maximum total flow. 

 
 

 
 

 
 
 

 
 

 
2) What is the chromatic number (number of colors in the minimum vertex coloring) of 

the following graph?  Explain why no smaller number of colors is possible. 
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